20224 T g 11 7 a5 Gediis K Al i

Bl %R

pH1E 7.81 712 | 69 | KE| 7/ | - | &

A (NH3-N) 560 | 0.096 8 |mgL| & | - | £

SE Y 5.02 0.67 3 |mg| & | - | &

IR (5600000 <20 | 1000 [ AL #m | - | &

2 162 18 60 |mglL| # | - | &

NS 0.004< | 0.004<| 0.05 [mgL| 7 | - | &

Jb#k % 0% 10 S A N
7 G VeSS 1.65 0.51 mglL| % | - | &
rﬁ)ﬂ qg,gg . }jﬁ_g@%ﬁgﬁ% iR 0.000000( 0.00000 mgL| = | - | =
Sﬂ?éﬁd‘ ) ¥ g?é(esﬁ HHENEAS | 637 5.4 20 |moL| 7 | - | &
k| AEHEE 18918-2002) Hm iy 100 7 20 [mglL| & | - | &
T ( s 3R ER | 3.00 0.05< 1 |mglL| % - =
L B BN 13 | 377 | 20 [mo] = | - | =
JakE 0.00009<| 0.00009| 0.01 [mg/L| 7 - P

<Y1 0.0002< |0.0002<| 0.1 |mglL| # | - | &

R 0.00004<| 0.00004| 0.001 [mg/L| 7 - &

B (LIPHD 1.52 0.08 1 |mg| #® | - | &

B 0.0007< [0.0007<| 0.1 |mglL| & | - | &

AT 0.0012 [0.0003<| 0.1 |mglL| % | - | £

pH1H 6.64 690 | 69 |LE| &/ | - | &

A (NH3-ND 15.0 | 0.763 8 |mglL| & | - | &

Y 1.89 | 0.06< 3 |mg| ® | - | &

FAMERe (4500000 <20 | 1000 [ AL 7w | - | &

T2 74 24 60 |mglL| & | - | &

ANk 0.004< [ 0.004<| 0.05 [mgL| % | - | &

205 16 4 30 | | /| - | &

g@zﬂﬁ yaiE S 0.48 | 0.06< 3 |mgl| & [ - | &
o Hm| o bﬁfc@ﬁ{%ﬁ&i& bR 0.000000[0.00000[ / [mgr| = | - | =
e ESUREEN Fvi%%ﬁtﬁﬂz Ak | 320 6.7 20 |mol| = | - | &
O] TPEE trifE(GB e — -
— 18918-2002) _ @\/%47‘3 ‘ 98 6 20 |mg/lL| % - B2
e BIEs R mE R | 2.62 0.05< 1 |mglL| % - &
B (BING 16.7 3.18 20 |mg| & | - | &

put:=! 0.00009<|0.00009| 0.01 [mg/L| % - =

R 0.0002< [0.0002<| 0.1 |mglL| % | - | &

HoR 0.00004<| 0.00004| 0.001 [mg/L| 75 - b

A (LIPH 2.45 0.10 1 Img| & | - | &

A 0.0007< |0.0007<| 0.1 |mglL| # | - | &

AT 0.0006 [0.0003<| 0.1 |mgL| % | - | &
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Bl %R

pH1H 766 | 69 |Z&E| 7 B

A (NH3-N) 0148 | 5 [mgL| 7 B

Y 0.06< 1 |mglL| # I

FER IR <20 | 1000 | AL | 7 B2

o A 8 50 |mg/L| % B

N 0.004< | 0.05 {mgL| 7 =

fENics 4 30 | © B2

e ZERGIES 0.06< 1 |mglL| # 2
HIRAR | PiTie—m | (e [ H A 26 | 10 |mgL| & i
e HEE | 18918-2002) B 7 10 |[mgL| # £
ifﬁjﬁ;ﬁ 9178 7 e i e 0.05< | 05 |mglL| # )
LY RONED 448 | 15 [mgL| 7 2

B 0.00009( 0.01 [mg/L| % B

ks 0.0002<| 0.1 |mgL| 7 2

KR 0.00012| 0.001 | mg/L| 5 B2

B (LAPi) 0.16 05 |mglL| # B

B 0.0007<| 0.1 |mgL| 7 2

ST 0.0006 | 0.1 |mglL| % B

15K GEEHERL ALY 1.31 10 |[mglL| # B

pH1H 6.80 | 69 | k| 7 B

A (NH3-N) 0149 | 15 [mgL| 7 =

BN/l ki 500 [20000| AL | 7 7

ALY 029 | 15 |mglL| % 2

e il R h i AL 2.2 10 |mg/lL| #& 2

o A 7 30 |mglL| % B

PR 0.0003<| 0.01 [mg/L| % I

k) 0.01< | 05 [mgL| # 2

N 0.004< | 0.05 {mgL| 7 =

D%é FA REAE 0.004<| 0.2 |mg/lL| 7 B
K FKHE FRUE(GB VERGES 0.06< 1 |mglL| # I
KT AL, 18918-2002) | T H A e 2.2 6 |mglL| % B
I B B -2 TV 1 771 0.05< | 0.3 [mglL| % B
M (BAINTD 7.04 15 |mg/L| % B

B 0.00009( 0.005 [mg/L| % B

BIR 0.00004( 0.001 [mg/L| % B

B CLAPiH 0.06 03 |mglL| # B

B 0.0007<| 0.05 |mgL| 7 2

R 0.0003<| 0.1 |mgL| 7 2

KL 0.006< | 1.0 [mgL| 7 B2

oY 0.0004<| 0.02 [mgL| 7 2

ks 0.025 | 2.0 |mg/lL| # B
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pHIt 717 | 682 | 69 ﬁf % 2
"A (NHBN) | 779 | 0466 | & |mol| & )
A 274 | 006< | 3 |mgl]| & B
J e | 5300000 <20 | 1000 | L] & =
X 13 24 | 60 |mol| & )
R 0.004< | 0.004< | 0.05 [malL| £ )
[N 16 4 30 1 5 =
. FeTTES 072 | 006< | 3 |mal| & E
W E T =) &
—— 0.000000] 0.00000| -7 Fo —
el s ks | PR o2< | oo2< | w |MY) 7 =
Gl T VK BHER | ) e | L H AT AR 49.2 2.8 20 |mg/lL| & =
Eb T M FrifE(GB =EY) 106 6 20 |mg/lL| & =
KA E 18918-2002) m%fﬁ%&%” 302 | 005<| 1 |mgL| # B
—H
Wi BA (UNID | 140 | 482 | 20 |moll| & )
S 0.00009<| “9%%| .01 |mgiL| 7 B
R 0.0002< |0.0002<| 01 |mall| & )
Bk 0.00004<| “9%%% 0,001 | mgr| 7 2
Bl Ui | 149 | 020 | 1 |mol| & B
T 0.0007< |0.0007<| 01 |malL| & )
Sl 38 ] 00010] 01 |mgl] & )
pH{E 741 | 701 | 69 3%5 7 B
" (NH3N) | 9.70 | 0565 | 8 |mgl| & )
SAE 1.77 | 0.06< 1 [mglL| # I
F e | 4600000] <20 | 1000 | L] )
WEE T AE 52 6 50 |mg/lL| & =
R 0.0002< | 0.004< | 0.05 [malL| & )
[N 16 4 30 i3 5 =
FeTES 054 | 006< | 1 |mal| & )
N B . 0.000000(0.00000(0.0000] T -
Wtk s | bepkperk | RO AR 02< | 002< 1 3
Hiaa | b J e | L HA TR E 22.3 1.4 10 [mgll| & =
s H {57J< *—‘ 3 =
o . niH(GB =EY) 102 7 10 |mall| & B
MG HED 18918-2002) |15 1 MiE TEA
KALFE IR 204 | 005< | 05 |mg| B
A UND | 112 | 267 | 15 |mol| & =
S 0.00009<| “9%%| .01 |mgi| 7 B
R 0.0002< |0.0002<| 01 |mall| & )
R 0.00004<| “9%%% 0,001 | mgr| 7 B
Bl (Ui | 148 | 006 | 05 |mol]| & )
T 0.00072 | 0.0007<| 01 |mglL| & )
Sl 0.001 [0.0003<| 0.1 |malL| 7 )
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pH1 740 | &9 | M| 5 2
A (NH3-ND 0259 | 5 |molL| = =
Y 0.06< 1 [mgll] & =
R R AL <20 | 1000 | AL | 7 =3
W FREE 16 50 |mglL| % =
R 0.004< | 0.05 [mglL| & =
N 4 30 5 Fa =
e 0.06< | 1 |moll| = =
N 0.00000
sk | PR oo2< | O |mot| @ =
s geHe | L HAEMFEEE 4.0 10 [mgl] # =2
FrifE(GB =Y 7 10 |mgll] #& =
18918-2002) | 1 ¥ % vk VA
) g 0.05< | 05 |mg| # B
2R (NI 354 | 15 |moll| = B
o 0009091 0,01 |mgiL| # 2
s 0.0002<] 04 |mgll| & =
BE 000904 0,001 | mgiL| 7 B
M (PP 0.12 05 [mglL| 7 £
S 0.0007<] 04 |[mglL| & =
Sl 0.0007 | 04 |mgll| & i
15K HE
FRAE(GBBOTS| i 235 | 10 |mgL| = B

1996)




